@SPOTLESS mpsC £

wi8
1k gAY 7 EUSIE | 3
@Taﬁf—raaﬁ
(o) Tyt I Wifee ferdtal 2
Tt Y (b) =g (e)/ Tt (d)y” TR
AL R (), (0 0 q) -
(;)h :"ﬁ (a), (b) 3T (d) i; aﬁa(:)a‘ () S (9
(@) N szy::;:}llli:mg literature was written by Klng Harshavardhana ?
Answer options : (b) HarShacharlta (c) Ratnawali (d) Naganand
(1) Only (a), (c) and (d)
SR
o, WFEW___ RUITN GEAUE B
. ' ’
ﬂ.{ e X2) T v (@) ® (8 T
Gimuka was the founder of the ___ dynasty.
(1) Satavahana (2) Sunga (3) Kanva (4) Saka
@ WWWWW@WWWWWWW?
@) (b) v
~(0) W d) qyﬁé"amé F graEE Y
qafadt 3T : ' Tl
(@) (@) TR T

cay (@) 0 (d) TR ST
By (@) (c) 3T () TR S (@) R (d) TR
Soma Mhase was honored with which of the following awards ?

Noted Warali painter Jivya
(a) Padma Bhushan (p) Padma shri
(c) Shilpguru (d) National award for tribal arts
Answer options :
1 @ and (d) are correct (2) Only (2) is correct
(4) Only (d) is correct

@) () (c) and (d) are correct

1) FuarRd T
(3) HEEA et NG Gl |
Who was the prominent part1c1pant in the Satyagraha at Dharasana in the Civil Disobedience
Movement ?
1) Kamaladevi Chatopadhyay? 2 Amblka Chakrawarti
(4) Sarojini Naidu

3) Kasturba Gandhi
OUGH WORK P.T.O.

e Hrarars) S/ SPACE FORR



(c)
(i)

i)

o)
|t
<

A

—

Sy
x@) @) (i)
w@ @ @ (iv)
Match the correct pairs of extension gl
(a) Mumbai () Chidambaran .Pﬂlal
(b) Delhi (i) Lala Lajpat I'{al

(c) Punjab (iti) Lokmanya Tﬂgk

(d) Madras (iv) Syed Raza Haider

Answer options :
@ () ()
@) @ @
@) () @
@) @) @ @@
@ O @@ @)

(@
)
)
i)
i

(1)
()

~— ~~
s

centers of Swadeshi Movement and their concerned persop,

ﬁaﬁmmﬁmwﬁawwmﬁal%swn@hﬁmmg@
(a) = 14 Futoda G @ Hiwd e,

(b) ferpiaTdl S T o gEd 9T,
(©) ugﬂaaﬁnwmmﬁm%m&rum@ﬁ.

it I
¢y T (a) S (b) 2) e (b) ST ()
(3) T (a) () (4) e

What were the main
recommendations of the Kothari Commission ?

(a) Compulsory and free education till the age of 14 years.

(b) Higher position and improved pay for teachers.

(c) Atleast 10% of gross national income spent on education.
Answer options :

(1) Only (a) and (b)

(3) Only (a) and (c) Only (b) and (c)

All of the above

(2)
(4)

A <RI It ?

principles of the Nationa‘l' Education Policy of 1968 based on th

gl
GHINTS! T / SPACE FOR ROUGH WORK
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m@an 5
WW@WWWRWWWWWW7
? e (2) fSfean snfn @

@) Taus M Seprg (4)31 mmm

Which of the fol1

owing tz
the Sultanate rule ?mg faxes was CoueCted from Hindu and Muslim landlords respectively during

- H‘

(1) Jizya and Shar

......

(3) Khiraj and Zakat

8. T ST WA R IR e v o 2
y/ A WA= fesfed X(2) I e Ffd
o B) - e 9 (4)_;{:? @i frafat
Which of the followmg objectives was outhned in the Nehru Report ?
(1) Achieving Dominion Status (2 5j: Creation of Two Nations
(3) Achieving Home Rule (4{%;:’2[‘0 gain complete Independence
9. ‘fe Tpa AT Uifcifead’ =t ST vl heit ?

(1) Tafe=g e () siaig 3 =i

(38) AT ASTHAUE (4) IRfae =y

Who among the following founded the Tllak ¢ School of Politics’ ?

_—_g

—=Shripad Amrut Dange
(1) Bipinchandra Pal (22—:::5 ripa g

= d Ghosh
(3) Lala Lajpatrai (4) Aern os

-
0

P.T.O.

FHeeq] HTHTETS) SIRT / SPACE FOR ROUGH WORK
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10. mmmﬁmmmmmﬁmwmmm S WA1E
3
)‘(1) TS g /(ZY AT HHE CO
f(3) e et S (4)  STE IEE Sl ,

Who was the main female collaborator with Mahatma Gandhi in the struggle of mill workerg i
Ahmedabad ?

(1) Sarojini Naidu (2) Anusaya Sarabhai

14.
(3) Kasturba Gandhi (4) Aruna Asaf Ali

11. 1857 = ISEME AR Aefiet TG HIUMHS T ?

1y a2 ~(2) TS

() TAERS - 5 (4) Wi STEHSSTRN
Who was the leader in the uprising of 1857 in Kanpur ?

(1) Tatya Tope (2) Azimulla

(3) Nanasaheb ~ (4) Maulavi Ahmedulla

12. 39 1907 7&A R T B FE TSR, wwmmamﬁm
', 38 faum ol el ? N

(1) S heA (2) < foow

(3) @S Hd wy~ < fw=

After the split in the Indian National Congress in 1907, who made the statement ‘National Congress
Collapsed at Surat, this is our victory’ ?

(1) Lord Curzon (2) Lokmanya Tilak

(3) Lord Morley (4) Lord Minto

OR ROUGH WORK
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(& PN IEH HTeTeleT srmger e 1 e o fawren ¥ e 2
o B ) P 3) Al @4 AN
?uligl};l?Razzaql a Persian traveller visited Vijayanagar during the period of which of the following
(1) Harihar (2) Krishnadevrai (3) Devrai l (4) Devraill

14, TRIAT SISl 3iesT ¢

3 (a) 3TgA W -
(b) W& q=H -

(c) STYA SATHAH MeT -
(d) et R - TeorE A A ERE

it e

(1) = () @ @@ @ @ @y (c) 3nfer (d)

Identify the wrong pairs. g

(@) Abdul Samad - Famous pagnté}
(b) Takhte Taus - Peacock th%cfﬁei

Bahamani mler

(c) Prince Azam Shah
(d) Bibi ka Makbara

Memorial o_fﬂ D;lras Bano

Answer options :

(1) Only () (2) (a)and (d) (3) (b)and (d) 4) (c) and (d)

15. @mmmm@mwwm?
(1) Seseme STidHt (2) THFS HSRH
@y T S YRS (4) 3 STt Hissh
Who among the following gave a personal sum of 25,000 to the Elphinstone Fund ?

“l“ﬂ\

(1) Balshastri Jambhekar 2) Jiﬁ—imkrlshna Bhandarkar
(3) Nana Jagannath Shankarseth “4) Vizmm Aabaji Modak
FOR ROUGH WORK \ PT.O.
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LE BN ESRER ‘
16. e e EISIER]
(1) fereied A2)
3) W& (4)
\(Nif h is the longest river in the United States from the options below ?
ic .
(1) The Mississippi (2) The Columbia
(3) The Snake (4) The Hudson
TehaiE FIvR AU S 378 ?

9:(1) mwgamamﬁq QEHEI% 3R,

X2y WG WA TREER TR 12 T ¥t oM,

X (3) ST STHTRI HEHM F FehieR 31 a7,

Sy AT WRFRE F SRR q-Hs TahiE weg o,

Which of the following statements is incorrect ?

(1) The Lakshadweep island group is in the Arabian Sea.

(2) India’s maritime boundary is 12 nautical miles from the coast.
(3) Andman and Nicobar Islands are located in the Bay of Bengal.
(4) India has a natural land border with Pakistan and Bangladesh.

18. EIA IV SEHI= TIEAHIT AN foreh hiishd Qe e ST ?
(@) RGN AU qaequ
(b) UL T=ueH faw™ dew
() TREH st fawm
(d) =¥ INRIS
TAEr I

1) (@, (b 2 @ ®.@ B @ ®) © 4 © @

Through which of the following factors the fisheries development program is implement:
effectively ?

(@) The Fishery Survey of India.
(b) National fisheries development board.

(c) Development of fishing harbours.
(d) Meat Marketing,
Answer options :

1) (), (b) 2 (@), ®), (@) (3) (a), (b), (©) @) (o) (@)

BT BHERITS W1 / SPACE FOR ROUGH WORK
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19, TERIET I TR TAYOMEA sz 2
FETFR ' . '
Ab)  THI®R srfafred d) Sedier
qatr e ' M/ &
1) (), (b) 37for () )( @  (®) © (@
NE) (@), (c) 3Tfur (d) %4.) -
Which type of drainage pattern is fOund in Maharashtra ?
() Dendritic (b) Parallel" () Indefinite (d) Trellis
Answer options :
(1) (@ (b)and (c) ) (b), () and (d) _
@ () (©and @ (&) Al of the above (@SpoTLeSS.MPSCF

20. fergRaiedT ST EeTeTyHTol ST SR :
a)y” ST YT, TTadTes 92¥l, T STl ou A% Wihias
@,
(o) ST S '{{;‘}EH(MIN'\I 315

o el Fhagere fagreret e

<@ AT
e R fae/ T SR e/ 2
1) (a) TR T @ (a) 3 () TR
(4) e

B3 (a), (b) 3 (0)

Dispersed settlement have the followin
(a) Dispersed settlement is found in hilly areas, grasslands,
environmental unfavourable conditions.

the houses in this settlement is isolated.
railway lines etc. the clusters of houses are far away

g characteristics :
dense forests due to physical and

(b) The structure of
(c) Due to rivers, mountain ranges,

from each other. =
(d) These settlements are found mjﬁjams and fertile soil areas in India.

roads,

Which of the statement given abov_ié’js‘Zare correct ?

(1) (a) only - @ and (b) only
(3) (a), (b) and (c) _.(4) Allof the above

Fe= BIETIATS) ST / SPACE FOR ROUGH WORK P
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- 21, @ﬁﬁﬂﬁmﬁaﬂwmﬂhﬁa@’

WWWZO]IWWW’

.
faqer (b) : |7 2011 =0 siferd SETOAGET, TR ARACTT AT IR o T 3y

i o far e S 3Ted ?
1) faum (a) SR 4 (b) ™ TP

@ faum (b) TR 9 (a) T P

(3) < faum T

@y 3 farem SR

Choose the correct opti

Ve d

on considering the following statements :

According to the final census of 2011, Mumbai sub-urban district had the high

" Statement (a) :
population density in Maharashtra.

According to the final census of 2011, Kolhapur district is the fifth most dens

Statement (b) :
populated district in Maharashtra.

Which of the statements given above is/are correct ?

(1) Statement (a) is correct and Statement (b) is false

(2) Statement (b) is correct and Statement (a) is false
(3) Both Statements are wrong

(4) Both Statements are correct

(gt () T a3 S % TS

In which district is the Hetwane major irrigation scheme located ?
(1) Sindhudurg  (2) Satara (3) Beed (4) Raigad

el SIS Wi / SPACE FOR ROUGH WORK
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3. AT T WA Frorean fsepront et sz e 2

) HIS (b) =g (© e @ A
it S |
1) (a), (b) amfor © (2 w= () (3) = (b) \/(Aj/ (b), (c) afor (d)

Coal is found at which of the foHowmgi:;pijce in Chandrapur district ?
(a) Bandar (b) (c) Telwasa (d) Wani

Answer options :

1) @ Gand@ (@ (3) only (b) @) (), (@ and (d)

24. @Fﬁaﬁaﬁmw,@mmﬂﬁ?

Which of the following is not a characteristic of sedimentary rock ?

(1) Particles of many sizes are organized in a single rocks layer.

(2) The rocks are huge and hard.

(3) Fossils are mainly found in rocks.

I

(4) Rocks are soft, so they wear out quickly.

e TS W / SPACE FOR ROUGH WORK.

——

P.T.O.
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@a@mﬁw@ammmjﬂv 0
@A ANTES

K (@ 2 (b) 3T (d) 3 FH () s (), () 3 (d)

Which of the following is not a characteristic of intensive subsistence agriculture ?

! Intensive cultivation

() Animal husbandry is a complementary
) The vast size of the farm

(d) Maximum yield production per hectare.

Answer options :
SOt and@  BFOWE A ©OmE

business to agriculture

1)
26. WWWWW:
ad T (W ERA)
(a) 1981 @ 15
(b) 1991 S @) 11
(c) 2001 (i) 08
(d) 20114 () 07
Tt S

pn @ 0 @
) @) (@) @
@ @ O @ (@
@ O @ @ @
@ () @ @ 0

Match the correct pairs of census year and death rate in India :

Death rate (Per 1000)

Year
(@) 1981 (i) 15
(b) 1991 (ii) 11
(c) 2001 - (i) 08
(d) 2011 (iv) 07

Answer options :

@ () (© @
@ @ @ @
@ @ O @) @)

@ O @ @ O |
@ (v @ @ O

| Al TS ST / SPACE FOR ROUGH WORK
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27. EICHTIHT THIVRT TR SRt aniaeting b1 P B T
AN TS YR K (2) T
8 T A )
Which of the following is not the pattern of Urb‘_z‘\::l;;scttlement (4
(1) Checker - board () Cir'cular
(3) Dispersed (4) Linear

28, TETCHEI HIU FAeT FeRTET= el 2011 =1 SUEER. SIS S 7
() CIHHTIA HERILTET QUM GEA FHHlE 3R,
(b) =@ wfa =t . 365 oR.
(c) &Rl 82.91% 3. |

() T TEinR 925 SR @ SPoTLESS MPSC 5

it 39N
(1) T (a), (b) 3T () () T (b), (c) U (d)
(3) HH (a), (c) 3T (d) gy T &

In relation to Maharashtra which statements are true as per 2011 census ?
(a) In population Maharashtra rank 2" in Country

(b) Density is 365 per sq. km
(c) Literacy is 82.91%

(d) Sex ratio is 925

Answer options :
(1) Only (a), (b) and (c) (2) Only (b) () and (d)
(3) Only (a), (c) and (d) (4) All the above

PEqT HHETETS! W1 / SPACE FOR ROUGH WORK
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09, @i vt foe e SUAE A ?

(1) fom (2) form= Pal @ T

Which of the following is not the tributary of river Sindhu ?

(1) Chinab (2) Biyas - (3) Son (4) Ravi
30. IFY SISl ol '

ST T S

(a) WRd | G) 5m Fee

(b) TR (i) ¥ HEM

© 3JTET 2 (i) T

(d) el ¢ (iv) W IR I®

T SN

@@ () () (d)

> om0 @ (iv)

Ta@ @ @ @ 6

Sy M) (@) @ (i)

(4 (@) @) @) (@)

Match the correct pairs :

Country

(@) India (i)

(b) Ecuador (ii)

(c) US.A. (dii)

(d) Australia (iv)
Answer options : -

@ () (o (4

O 6 @ (iv)

@ @) @) @ @

@ @ @) @ W)

@ @) @ Gv) (@)

- N atiohal Park

Jim Corbett
Grand Canyon
Galapagos

Great barrier reef

T HTHATS! ST / SPACE FOR ROUGH WORK
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AT 3 15 _
" ) T e wam*@ﬂ,ﬁﬁwﬁ?

@) TerEl aemaisl e g
@) =04 | E

Wlollccel;sg?edoglcal evidence supports the notion that climate change is a natural and continuous
pr

(1) Tree rings in high altitudes
(2) Glacial advances and retreats
(3) Sediment deposits in glacial lakes

(4) All of the above

32. memﬂh@ﬁﬁﬁﬁmfﬂaﬂm
(a) TiEe= AMEERER STaTSal (Anaerobic) S Sesf 2.
(b) mmmmwmmmwmaﬁm@m@a

TRt v faem/ e sRisT SiR/a ?
1) FX (a) (2) wH (b) B—@IO) I (@) (a)F (b) AR T

Consider the following statements regard g obal warming :

i ™
=

o g 5 ||'

(a) Anaerobic Methane is emitted with ricec tivation.

1| l

,n iy

_er’:l nitrous oxide is released into the soil.

(b) When nitrogen - based fertilizers are 1

Which of the above statement/statements 1s/are correct ?

(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) Neither (a) nor (b)

e BIIATS! IR / SPACE FOR ROUGH WORK P.T.O.
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33. WRA WHRA oAl U A sigrst
forecasting and R .MW—SYS]:MLA. SJREl
g esearch (SAFAR) =1 ¥ e L 1L m*;?gahty, We
?

«(1) ﬁ(_'g‘ﬁ, Tﬁ, ITBHIETG, H—aﬁ
\/(»2/)/ feeett, E, '&.ﬁg, EAEAL
(3) faeeh, §or, G, W
@) Teeeh, o, ST, S

Government of Indi
: ia has establishe
(SAFAR) in which of the following

forecasting ?

(1) Delhi, Pune, Ahmedabad, Mumbai -

f Air quality, Weather forecasting and Res
¢

d system o
fo i ity

r research on air quah assessment, we

’ d

four cities

(2) Delhi, Chennai, Mumbai, Kolkata
(3) Delhi, Mumbai, Hyderabad, Chennai
(4) Delhi, Mumbai, Bangalore, Chennai

34, @i faumEr forem HT. ,

Za) ﬁwaaﬁmqﬂﬁﬁaaﬁqv)
ﬁﬁmﬁwmmmmﬁ

mmmﬂgmaaﬁﬁwm.

e (0)
3) (a)anﬁl(b)a%ﬁ @) (a)aaﬁr(b)aaﬁmé

g statements.
nerally have greater bio

erally greater at lower al

des.

Consider the followin
diversity than Jow latitu

titude on mountain slopt

(a) High Jatitudes ge
titude than at higher al

(b) Biodiversity 15 g€
Which of the above statement/ statements is/are correct ?
y (@) (2 Only ()
4) Neither (a) nor (b)

(a) and (b)

< / SPACE FOR ROUGH WORK
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PAN (Peroxyacetyl nitrate) is formed as a result of following interaction :

(1) Nitrogen oxide and sulfer dioxide

A(z) Carbon monoxide and volatile ofgamc compounds

B Nitrogen Oxide and hydrocarbons

4) Ozone and particulate matter

(1) F SO e &
() S ST HaTET &
EEREE |
memm

Iy ”“\l

ll‘ g

Flve Year Plan went to the :

=1l

The largest share of allocation in the Seve

(!
P

Q|

S,
i,

(1) Agriculture and Communication Se

&

i

(2) Industrial and Communication Sector.:

1

(3) Energy Sector

(4) Transport and Communication Sector

e reTTS) W / SPACE FOR ROUGH WORK

P.T.O.
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37. e i er AR ST I
_(a) qﬁaﬁmﬁwm’mw‘mﬂ?waﬁ

_ (b qasﬁwmwm@m@maﬁ

e mmmwmmaﬂz@;ﬂﬁ@ﬁm

A(d) Wmmqwmmaﬁﬁm.
Wfﬁ'?x‘ﬁ':
(1 S () @ @) O heles (d) 4) (a) ¥ (d)

Relative poverty depends on following factors :

(a) The human body needs calories every day.

necessary to meet basic needs.

(b) Income is
the lower income

(c) Comparing two income groups, group comes in poverty.

e condition of not being able to meet the basic needs.

(d) Povertyis th

Answer options :
2 (a)and () (3) only (d) (4) (@)and(d)

mmmmmmumﬁésrﬁ.

38, wore faftdAE gt greTaET
(m/ et @ Arepis g) T ({4) Ao
development is prioritized over environment degradation in energy generation.
(1) Human (2) Cultural (3) Political (4) Social
39, R T ammmﬁrmmsn@r:cﬁ. ayee g e ama;%r@@/ﬂﬁ
T A S,
HS 4 @y 9 ECIUl

2 P 3)
formed under t

ms of India in the year 1995

To study the proble
chairmanship of Dr. Abid Hussain.
Large Industry (4) Small Industry

(1) Education (2) Agriculture 3)

e HTHTATS! ST / SPACE FOR ROUGH WORK
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4. TT W SAF T TR sqfirenn qEerETOl SR,
i RO Fror e forareag afoms weret 6.
(b) To=RE aRom oy e wfrares gftom gueE F.
(c). Sirares uftoms sufor foreamer wftoms gomeh o,
() e wRom snfor e R froy
watdt S '
M FE () 2) (a) 3 (c) 3)  (b) 3 (c) @ (o) 3o (d)
According to Gunnar Mirdal the role of Govt. in economic development should be as follows :
(a) Effecting the spread effect by neutralizing backward effect.
(b) Neutralizing spread effect by effecting the backward effect.
(c) Effecting spread effect and backward effect.
(d) Neutralizing spread effect anéi:;backward effect.
Answer options : ::
(1) Only (a) @ @and(@ () Gand@ @ ©@and(@
41. Wﬁm@mmmaﬁm :
(a) Toreromges fear=an = Heft GURAm.
< (b) finefta forai T = qai fafa = awed.
i Tneor for e feaie RIS S e .
) o= snfde feordt GuRA.
1) @amE) @ FwE= 6 OF@ @ © ST (d)
Education for women reduses fertlshgz due to .
(@) Education improves work OEEO;hlmty for women.
(b) Educated women want thelrc;'vzm children to be educated.
(c) Education and literacy make women more receptive to information about contraception
(d) Improving economic condition of women.
Answer options :
(1) @and(® (2 Only( @) (and(d @ () and(d
e RIS ST / SPACE FOR ROUGH WORK PTO.
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42. Tfeww friem wos .
(@) 203 25 uteret Srefenreia ST
(b) SeferTei et 15, 20 Fb 25 T FEARHIAE ST S
(© 15320 e Tl FErEHEE T A
d) Wg@émaw@ﬁmzﬁaﬂhmmm.
i ST
(B B (b) 2) %99 (a) B @aM(@E (@ (=)
Perspective Planning refers creoite
(a) Long run planning for 20 to 25 years.
by~ Long range targets are set in-advance for a period of 15, 20 or 25 years.
(c) One plan for entire period of 15 to 20 years.
(d) Broader Objectives and targets are achieved within one or two years.
Answer options :
(1) only (b) (2) only (a) (3) (@) and(0) (4) (c)and(d)
43.  STTEREN WO WICHe STereelfe FHE W ;

(a) mm%mwwaﬁ

(b) i ST 9 S Tt Wi Saere g

(©) T S, T, g o e T W ST {

(d) T ST, T, g v, WS, e, g, T 3. Tatd A S g

Tt S : .
(1) F2(d) of @FE) @) @ 6T @@ 0 0TO
Food security includes following stages :
(a) Adequate availability of food grains to all.
(b) Adequate availability of food grains and pulses to all.
(©) Adequate availability of food grains, pulses, milk and vegetables to all.

(d) Adequate availability of food grains, pulses, milk products, vegetables, fruits, meat and
etc.

Answer options :

(1) Only (d) mwmw><SMmea>mmwww

ACE FOR ROUGH WORK
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g, TR & TR ol R A 7% st S o et a2

(1)~ ISt = @ T et A

(3) IR F TR @) el = e

Who has criticized that economics is aK‘uber worshiping science ?

(1) Ricardo and Malthus L3 (2) Keneys and Karl Marks

3) Karlail and Raskin (4) Chamberlein and Robinsons
i

5. T et fefm Toiereat ifest Qenfe SeSarIgaT Hefloal SHelvl & Fercenonarst sl s, s
s’ ST Fegl Fed Foar 3Tl ?

(1) 22 9HaERt 2016 (2) 22 aﬁmﬂ‘zols (3 22 SMa 2015 (4) 25 STHART 2015

When was the “Beti Bachao, Beti Padhao” campaign launched for the protection and empowerment
of the girl child as per the last revised=st§tistics of child sex Ratio in India ? '

(I) 22 January 2016 (2) 22 ]anuary 2018 (3) 22 January 2015 (4) 25 January 2015

46, I Yl Ao Sfeiaed fhma aetEn R fhdt <h feer Sa stavas 8n ?

0y 45350% X 35350%  (3) 40350% (4) 45355%

What percentage of the rate of prlce mcrease was required to be kept as per the objectives of the
12 Five Year Plan ? { 2

(1) 45to5.0% (2) 35t050%.; (B 40to5.0% (4) 4.5 1to055%

i%
. E

1 BETETS! W / SPACE FOR ROUGH WORK PT.O.
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47. mmﬁm@aaﬂwﬁaﬁﬁ/-
@) et e e A % 3 4
(b) s S e TR 3 3T T
(<) ﬁmmmarmvamwam.
(@) i S e e Freea w0
vt I

(1) (a) 301 (v) (2) Waa (d) (3) &GS (a) (4)  (b) enfor (c)

Agcording to Higins Population growth can be
*/ A motivator for autonomous investment in developed countries.

(b) A motivator for induced investment in under-developed countries.

() A motivator for only induced investment in developed countries.

(d) Demotivate for autonomous investment in a developed countries.

Answer options :

¥ (a) and (b) (2) only (d) (3) only (a) 4) (b)and (c)

ﬁaﬁﬁvs%w(Poverwcapmdex)aﬁém@@aﬁﬁmmﬁmm,amrnzam
TIféa e It Fiftae ?

y 2 X FOFEHRAl fhdt Ferisrt T & G AT ?

4(2) aﬁﬁgmﬁmﬁﬂmwwmm?

£03) aﬁaﬂgmﬁmma@émﬁﬁﬁaﬁmaﬁa?

(4) T HIEE A R

Gaurav Dutt and Martin Ravalin said that Poverty Gap Index is calculated for which of th

reasons ?
(1) How much calories deficit needs to be made up to eliminate poverty ?

48.

e followinj

(2) How much income would be needed to cover the deficit to eliminate poverty ?

(3) How much increase in per capita income will be required to eliminate poverty ?

(4) None of these
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(1) FEE A2y fawwm (3) A @) foger
[n a Society where the income dlstnbuhon is excesswe the handful individual there
has unlimited money. -,
(1) Equality (2) Asymmetry (3) Deficiency (4) Abundance
5 Fard wfasafraig feft s WY HIOI AT
1) 1950 £y 1952 (3) 1960 (4) 1981
The Employees Provident Fund Act was made in
(1) 1950 (2) 1952 3) 1960 4) 1981
" Wﬁaﬁaﬁmww a2

(Al SRR SO ST,

Q<(IV) AR TAUR A
Tt S

(1) (I = (I 2 @ 3) R ALY = (IV)
Which of the following sentence is wrong ? __-
()  Atomic nucleus is made up of protonsand neutrons.

() Proton has a positive charge.

(II) Electron has a negative charge.

(IV) Neutron has a positive charge.
Answer options :

() @[Mand @) (2) (M) and(@D (3) Only () (4) Only (IV)

—\
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52. X Trehore Ol Tl
(1 A

(2) o

L3y TR T T
4) TH |
A particle thrown up has zero velocity but how much will be the acceleration ?

(1) Zero

(2) Infinity

(3) Equalto acceleration due to gravity
)

(4) One

53. @il faum g i e d ferel.
/a) ST FERTETE! FIezr TR 37,
(HI) ST e AreErEE SfEEd ¥ T I

Wﬁ’fﬁ :
M (1), (II), (II) =R e (2) (1), (1) FE .
(3) . e (II) SR TR, @) (1), (1D, (1) SHN 3TE.

Say whether following sentences are true or false :
(I)  For propagation of sound medium is necessary.
() Unit of frequency of sound is Hertz.
(Ilf) Loudness of sound is expressed in decibel unit.
Answer options :
1) (@), (1), (II) are true (2) Only (I), (II) is true
(3) Only (II) is true 4) (D), (1), (IID) are false
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(1) Eﬁxﬁz{ q9 “»_:
L5 (2 R
4 et
/ i ::;’_ 4
WhiCh one of the following is not (4) TR R BIG
not an-applicati
(1) Aspirator pump n-application of Bernoulli equation ?
(2) . Venmry pump

(3) Speed of Efflux
(4) None of the above

@?ﬁ‘cﬁﬁ‘(mﬂ'ﬁﬁ'{ N
ﬁ (SOOQ?) EASER dwr\’idm WWWWWM m7
3000 A1 HE

500 F "X ) e
9550 ”
—"j' ‘:ﬁa (3) 1500 T HE 4)
gnificant CQEEL@W h for

(1)
At room temperature (300k h;:: g '
radiaﬁon_enﬁttgd_bﬁ.bddy )?’ what1s the si the thermal

(4) 3000 nm

() 500 nm

5.
(2 T SR

a7 femOn AT 4)
Which of the following wavelengths aré used to study the crystal structure of material ?
(2) Gamma Rays wavelength

A) Ultraviolet wavelength
Infrared wavelength

yl X-Rays wavelength
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Wawmwmmmﬁ“ﬁmm?
(a) W Tl e b or A A S
(b) e A o st areren S TR TR S
(©) i T T S AT e T W S
() T ST f € e G Sl e A ST T H S

ERIRIT

(1) (a) 3T (b) @ @ O 6 @ O oo (d) (4) SR T
Which of the following statements are correct about the 'cell theory of Schleiden and Schwapy
(a) All living things are composed of one or more cells.

(b) New cells are formed from the pre-existing cells.

(c) There are basic similarities in chemical composition and metabolic functions of cells.

(d) The activity of an organism is collective activities and interactions of its cellular structure

Answer options :

(1) (a)and (b) (2) (@), ()and (c) (3) (a), (c) and (d) 14')/ All of the above

59.

T =AEE 3AF =i & W Telierieh! vl ST Saies TEia gl 7

(1) FEEGET gidiEE 2y anaw"ﬁar;?z?ahr
(3) - srderit geT (4) EeHIIERIT T

Leaf Blight of wheat is caused by infection of which of the following fungus ?

(1) Uromyces tritici (2) Alternaria triticina

() Ustilago nuda (4) Helminthosporium sativum
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4 ﬂgmﬁﬂw%a A ij’jﬂmwﬁm?ﬁwm@mamm
q ?ff:[ el Wﬁ 9 ﬂ?ﬁﬁ . ¢
/ Sreare 3. WW#W@@WHWTW
O T LT T
qdt A<
MU TR (a) T (b) FIHIH T @ =
}?})/ T (a) 9 (c) W 3R, 7\(4) “‘;_“
With respect to structure of DNA, following :;our statements are made. Choose the two relevant
statements.

() DNAis made of two long chains of nucleotides coiled in a helix around a central axis.
) DNA is made of two long chains of nucleoside coiled around a central axis.

() The two chains are complimentary to each other so that Adenine is always paired with
Thymine and cytosine with Guanine.

iy,

(d The two chains are not complimentary to-each other where Adenine is paired with uracil
and cytosine with Guanine. :

Answer options :

(2) =Only (b) and (d) is relevant.

1) Only (a) and (b) is relevant.

() Only (a) and (c) is relevant. (4) Only (c) and (d) is relevant.

_///
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% (4) A, fufes, frrodyehr, 3T

?
Which of the following animals belong to same class 7

(1) Torpedo, Pristis, Hippocampus,
Calotes, Anabas

Ichthyophis

(2) Ichthyophis, Hippocampus:

(3) Calotes, Pristis, Ichthyophis, Hippocampus

(4) Torpedo, Pristis, Hippocampus, Anabas

‘ﬁﬁ’mﬁmﬁwﬁwmmmﬁmsﬁ/mmm?
1) wTEEEREE (2 wEEEs () T 7S (4) SR

Which plants extract/latex is used to prepare a narcotics called Heroin ?

62.

(1) Poppy plant  (2) Coca plant (3) Hemp plant (4) Bajra
63. Wi BV fauH T 3 ?
LBy et IAUHE THUT 208 BTS STHAw.
() T s et & s wr e oA
a3
O @AM A2 ) @) @) (4) et TR
Which of the following statements is true ?
(a) The adult human skeleton consists of 208 bones.
(b) Vertebrae and facial bones are irregular type of bones.
Answer options :
1) (@) & (b) (2) Only (b) (3) (a) only (4) Neither of the two
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e, et SR ey opey poerraet wrefier St gt
g T () 223?‘ =
1
aﬁ\ﬁ@
v) N () ey
(C) HH (111) ﬁh‘l:r{
Yfeati-3tem
(@) (iv) fag - =
P LS T ety
@ ® © (@
@ @ @) @) g
p @ @ @) @
p @ O @ i)
@ ® G Q) (i)
Match the following t
mibs. ° €XPpress general resemblance between bones and girdle fore limbs and hind
List no. -1 List n
. . 0. -
() Shoulder joint 4 (i) Tibio—fibuig; \
() Humerus 3 (i) Knee I
F Ebow . (i) Femur -
(d Radio-ulna \ (iv) Hip joint 3
Answer options : -
@ b © (@
A @) G @@
@ @) @@ @) 6
@) @@ @Gv) (@) (i)
@ @ @) @Gv) ()
6. Tl HIu TR W€ TS 3T TRUrdw ?
(@) e (b) ogRe™ (o) feiem (d) TR R
TR IR *_:;
B % (o) (2) = (b) %5_5) T (d) (@ T (@) s ()
From the following which isotope is called a&heavy hydrogen ?
(@ Protium (b) Deuterium (C) Tritium (d) None of the above
Answer opti : e
M) On(l); (c(;ns (2 Only(®) (3) Only (d) (4) Only (a) and (¢)
¥ SRS wrm / SPACE FOR ROUGH WORK P.T.0.




6. it A/ g/ o
L ! N (©) Au a7t Ag (D) g
(A) Cu afor A (B) Co
'ﬂ'&'f'ﬁ‘aﬁi': . w/ - ©
B
@ & @) E® ot e
°<(3) O pe extracted from their orés by using cyanid,
: . < of metal/ metals can be €X
Which of the following palr/ pairs ©
complex solutions ? A , o i B
(A) Cuand Au (8) Coand A8 (C) Auand B8
Answer options : )
(1) Both (A) and (B) 2) Only ©)
(3) Only (D) (4) Both (C) and (D)
. ks Ees IR RCIRIGIGE
67. WWWWWWWWW I S
(2) W (py T ﬁaaa”t
/(;a/ fire aife RS (d) ST SIS
ﬂ'ﬂﬁ?ﬁ:’f:
@ w=O @ W () )
@ w0 eyl T

o neutralize the acidity of soil increased due to excessive usel

Which chemical compound is used t
Chemical Fertilizers ?

(a) Potash (b) Lime water

(c) Milk of magnesia (d) Ammonium hydroxide
Answer options : |

(1) Only (© (2) Only (a) and (d)

(3) Only (b) (4)  All the above
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w/ WﬁWUT 7{@ ‘ v“gla’l EISLGIG
()« spi
4 ﬁWﬁ
1s used to ( ) 4 e !
=ete the Prese
nc
() Saponification valye : OfMLMMLO_IS and fats.
(2)  Todi
(3) Acid value odine value
(4) ViScosity value
,, T a1l i
\?f 3ﬁa§@1 2
ZKCIO3() TZKCI(S)+302 0
(a) SOARHET AR b # aqf
)Q/W fufshan @) T e o
(1) () (2) P (b) (3) T (a) S (d) 4) ®H (a)
Identify the type ofAfollowing chemical reaction.
KCIO5, —5— 2KCliy+30; 1
J{a) Exothermic reaction (b) Dlsplacement reaction
«(c) Decomposition reaction  (d) PhOtOChemlcal reaction
Answer options :
3) Onl d(d Onl
(1) Only (o) @ Only (b) g Onylarand(d) (4y"Only (a)
P.T.O.
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70. @i faum faemrma =

| Tt SR
A(b) StffFaTRRERT Tedt aafach 1, U gl
ey~ TIYHA St i, e,
Ad) AR fad i, e

Fieiat SR faym,/ faum st 3Rd 2
(1) e (b) (2) K (d)
3] E (a) S () (4) e (b) WO (d)

Consider the following statements :

Rate of a chemical reaction is

(a) proportional to the concentration of reactants.

(b) decreases on increasing the concentration of reactants.
(c) increases on increasing the temperature.

(d) decreases on increasing the temperature.

Which of the statement given above is/are correct ?

(1) Only (b) (2) Only (d)

(3) Only (a) and (9 (4) Only (b) and (d)

71. mmmmﬁuimﬁaﬁmafwmmmm?
of1) R fRiA S HEra WRETw
A2y R T
(3) IRarEl HHg
(4) WA Gage™ «

The Contingency Fund of India has been placed at the disposal of which authority among the
following ?

' (1) Comptroller and Auditor General of India
) (2) President of India

(3) Parliament of India

(4) Prime Minister of India

. el PBTHIIS! WM / SPACE FOR ROUGH WORK
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>

435 Tl (B), (C) 3nfyp (D) R (), (B), (C) sfur (D)

which of the following state 45w (A), (B) 3fur (C)

: ments 5 e WS AT L
Emergency in the State ? T€ correct regarding the ‘Bommai Case’ in reference to the " "

The ‘Bommai Cage’ J

ud em )
5 gement was delivered by the Supreme Court in 1994."
(C) If President’s Rule is imposed=w

decision of the Central Gf,gz&g:%iﬁlout valid reason/s the Supfgﬁle Sourt can Qﬂésh' th A

(A)
States can appeal to th —— . 5 g, Behg L
e . s . : s
SuPregL_g Court when President’s rule is introduced in the States.

D) An order to di e, | ' P |
(D) er to dissolve a State AﬁSse_l__nbly requires the approval of the Parliament. ~

Answer options : R

(1) Only (C) and (D) (2)  (A)..(B), (C) and (D)
3) Only (B), (C) and (D) (4) Only (A), (B) and (C)

— =

() he™ 124 9 128 _(@y O 3247329

ET 274 | 279

() w256 @ 259 == (4)

o E===es,

Which Articles in the Constitution ;;?éide for the electoral system in our country ?
() Articles 124 to 128 ’f‘f (2)0) Articles 524 1o 323
() Asticles 256 to 259 i (4) Articles 274 to 279

K W ISIEIRIR TR,
"0 BT T / SPACE FOR ROUGH WOFR : R
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The Central Information Commission includes one Chief Information Commissioner and Ma"imum

how many Information Commissioners ?

i issioners
(1)  Five Information Commissioners (2) Ten Information Com

(4) Eight Information Commissioners

@ GPOTLESS_MPSC £

(3) Six Information Commissioners

4 -

(E) Hroreet sTaTeraT, Jeforh e yrfifer freror (ferepaon) 2ugrq A 3Ted.

qatdr 3N
1) (A) (B) S (C) @ (®),(C (D)
& (@), (©) (D) 3 (E) (4) (B) T (D)

The Indian Constitution establishes a secular state, meaning :

(A) The state makes discrimination on the basis of religion in matters of employment.
(B) The state avoids preferential treatment for any particular religion.

(C) The state treats all religions equally. ‘
(D) Freedom of faith and worship is allowed to all the people.

(E) Educational institutions, without exception, are free to impart religious instructions.
Answer options :

(1) (A), (B)and (O) (2)  (B), (C) and (D)

3) (A), (©), (D) and (E) (4) - (B) and (D)

e HTHIETS! ST / SPACE FOR ROUGH WORK
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CRRGIS faedt Jan

/iﬁ ) g TR e ey g

0 ERRIRSBIRGI!
il 3

(A), (B) ¥ (D) @) (A), (B), (C) oHfer ()

o) (&) @), (© 3 o) @) (A), @) s ()
who among the following are members of a Committee that recommends the appointment of the
Chief MOrmaﬁon Commissioner ?
(A Prime Minister

Leader of Opposition in the Lok Sabha .
© Leader of Opposition in the Rajya Sabha *
p) Union Cabinet Minister nq

minated by the Pr;.me Minister.
E) Speaker of the Lok Sabha
Answer options . {13
(1) (A) (B)and (D) () (A)7(B), (C) and (E)
@) (A) (B) () and (D) (4)  (A)x(B) and (E)

7. mﬁaﬂﬁwﬁaﬁa@mﬁmmmmmmmmﬁm:
(A) 10 = SETETRATHR TeW & TR T3 & WY WRAT e L,
(B) 11 A1 HSTGERATHR S, THU & T & W29 MIRaTd SHevam o7,

€ 15 = SRAGERITER hewmfan wewine} faviem <emm s s,
(D) 22 =T SRAGEITER Heerd a1 T it evam simeh),

o
- B |

T I ‘
M) (4) sufor (C) =R @ ()30 (D) wiew
B) (B) amfir (C) =R T () (D) SRR

Consider the following statement/s regarding co
the correct option/s. = . .

(A) Dadra Snd léagar Haveli territories were included in India as per the 10" Amendment.

(B) The territories of Diu, Daman and Goa were included in India as per the 11th Amendment.
© Lee' T:htre was established in Union Territories asdper the 15™" Amendment.

(D) Th%lsstate of Meghalaya was created as per the 22" Amendment.

Answer options : , g

) (a) :nd (C) correct (i) 83\)) ‘::i (FD)) C:grr:;t

(3) (B) and (C) correct (4)

r}é_:titutional amendment/s in India and Choose

K.
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1) I 22, 1947 L e e T S

A2Y AR 24, 1950 - wfaum |l e EiHR.
(3) SMER 25, 1950 - ORI TS feeRi S
(4) STHER 26, 1950 - YEEIGEN Ty e iR
Identify the incorrect pair : :
(1)  July 22, 1947 - Adoption of National Flag by the Constituent Assembly.
(2) January 24, 1950 - Adoption of National Anthem by the Constituent Assembly.
(3) January 25, 1950 - Adoption of National Calendar by the Government.
(4) January 26, 1950 - Adoption of National Emblem by the Government.

79. IR fafay T smEimien e wwid wed fEre .

R (A) :Eﬂﬁawaﬁww9wawwmwmwww
By T e S s 1990" e et el SR T ST .
(©) ‘WW@WWMww'w‘@HWW’WWW
Py 27 TedsR 1993 Usht ‘TLF AHAMIHR SAE’ T HOIRESHTAS 7L HIGUITA ST,
S SRIER S/ TGS hIvrdl/ BT 3118/ 311 2
(i?)c (A) sufer (C) (2 (B) s 0) () (&) A (@) (B) ()
Consider the following provision/s with respect to various ‘National Commissions’ in India.

(A) ‘National Commission for Scheduled Castes and Scheduled Tribes” was established un
Article 339 of the Constitution of India. .

(B) The ‘National Commission for Women’ was established under the ‘National Commission
“Women Act’ 1990. '

(C) The ‘National Commission for Minorities’ was established under the “National Commiss
for Minorities Act’ 1992. |

(D) On 27th December 1993 an ordinance was passed to establish the ‘National Human Ri
Commission’. ‘ 6
Which of the above provision/s is/are correct ?

@) @and© (@ Band® G Wand® @) (B and(Q)
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Ch of the fOllowmg Statement/s ls/ar:; i

€ correct regarding the citizenship of India ?
N [ndia has single citizenship SyStem W

) citizenship Act was Passed in 1955

0 part 4 of the Indian Constitutiop, Provides citizenship.
Answer opthnS
0 Only (A) & (C) Correct

(2)  Only (A) Correct
0 Only (A) & (B) Correct

(4) All of the above are correct

%

SIWWWWWﬁW 1 T 2

1) 63 FEGE }2)/69a*rm1gwﬁm
B) 915&'5‘“&'5@% :.‘3(4) 93 < HITIGEE A

Delhi was called National Capital Temtory by which Constitution Amendment Act ?

7 JG(

() 63" Constitutional Amendment Act (2) 69 Constitutional Amendment Act

() - 91% Constitutional Amendment Act  (4) 93rd anstitutional Amendment Act

" AT Teaeredier Foren e T e S TR 9w g o ?
Ala/mmg AQ) wem 343 _ ) e 266 ;Q/w 248

,=_—ﬁ

Which Arhcle in the Constitution of Indla_EI‘B‘“des for the Post of Comptroller and Auditor General

(1) Article 148 (2) Article 343 :-z (B) Articleidss (4)  Article 248
=
J PTO.
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83. .
Wzsmlgslamstzmmﬁfmaﬁgmmmqﬁﬁﬁm
17@@1952;‘151"1%@@“@%@‘“
(B) afien e et ST 13 # 1952 Toft TE -
©) qﬁw@mﬁmmﬁeﬂwmmaﬁl firer 1957 st ferafefa .
~ (D) . Sik=d W%W@Wﬂ%mawﬁ .
et B faur/| a@,"‘l amR/a?
B FEE 0 @EmE @ ®0 o @ FF=O
Consider the following statements about First Lok Sabha :
: (A) The first Lok Sabha was constituted on 17 April 1952 after India’s First General Election
were held from 25 October 1951 to 21 February 1952.
(B) The first session of first Lok Sabha comménced on 13 May 1952.
(C) The first Lok Sabha lasted its Full ténure and dissolved on 1 April 1957.
(D) Shri. G.V. Mavalankar was the First Deputy Speaker of First Lok Sabha.
Which of the statements given above is /are correct ? .
(1) (A) Only (2) (A)and (B) 3) (B), (C)and (D) (4) (D) Only
g4, FIR HW I AEGEM TAE SR mWWWﬁ?
af w226 (2) e 135 (3) hem 143 (4) T 133

Which article empowers the High Courts to issue directions for the enforcement of Fundamen

Rights ?
(1) Article 226 (2) Article 135 (3) Article 143 (4) Article 133

e BTHTETS! ST / SPACE FOR ROUGH WORK
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)  (®), () sf (D)
M (), @), (© s (D)

Consider the following statements regarding ‘Kesavanand Bharati’ Case :

®) ”21111\51 C;ZE; was heard by the Constitutigh.Bench of 13 judges headed by Chief Justice of India

)

) In Seven - Six majority, the bench oy

f I;

ed the basic structure doctrine.

(C) This case changed the decision of Ggf:?ﬁ%ath case.

5

fl

(D) This case seems to be the instance of judicial activism.

Which of the statements given above is/are correct ?

1) (A) (B)and (C) 2 (®), (C) and (D)

() (B) Only 4) (A) (B), (©) and (D)

%
==

“'W%mmzozsu@méimz?_j;‘m? ‘
M 10—(;*—“” \(2) 111 ;) 101 (4 123
Which is the India’s rank in global hunger:_{f{éf_ 2023 7
M 100 ) 111 By m (@) 123
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. Which space agenC}; helps India in tracking the Solar Mission Aditya - L1?

@ owasa @ A O
88 WWW,W@@W@WW.WW/#TWWW/Q
Wﬁﬁrmm%@r @SPOTLEL(_{Y)PSC

/MWWWWW@&WW

JAXA 4) ROCOSMOS

 (¢) Wmmaﬁwwﬁ

L WWWWW
4'~.(i> @) F ey’ (b) R ST
'-_.(3) (a)aTTﬁT(d)EIWSIT%ﬁ (4) (c)anfvr(d)aiman%a.

‘ Recently, Odlsha Chlef Mmlster has launched Mukhyamantri Sampoorna Pushti Yojana. What
is / are the pnmary ob]ectwe/ s of the scheme ? i

. (a)v_ To promote higher education for girls.
() .Improve maternal and child nutrition in the State.
| _(c; :To provide employment opportunities for adolescent girls.
| ‘(d).; - Boosting agricultural production in rural area. '
g Answer options,:
- (1) Only (a) is cor;ect. g (2). Only (b) is correct.

(3) .. (a) and () afecorreét. ' - (4) .(c)' and (d) are correct.
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9 Mmm— 2023 fawdt ara faum siea,

@ 1 el AT TS A fehh swavarg e,

(b) I T TR A 0 ey @meﬁ%m

© mmﬁazsgaﬁmwmé\ﬁmm

‘. ",]f' [i b
i

»

y‘l

wtl! tllian
<

(d) T T TEV 107 TEF WA e,

"
{1

i

g I

M @E0 @ @60 @Geo@ 80
Identify the correct statements regarding Asian Games - 2023.

(@) This competition was held in Hangzhou, China.

(b) Shooter Lovelina Borgohain played a roleiof flag bearer for India at the time of inauguration.

¥ %

(c) India got 4" position with 28 gold medaisi

=

(d) India got total 107 medals in this compe jﬁ"@n

Answer options :

1) @ ®)© 2) (@), ®) @ @) (®) () (@) @) (@) (), @

90. aR Ffuw S Fearen ' sawred T TS 2023" = I IO & FEA 2

gy RS @ 5w o Few @) e
Bar Council of India’s ‘International Lawyers%:Co%nference 2023" was inaugurated in which City ?
(1) New Delhi (2) Mumbai r(?f}mg Kolkata (4) Bengaluru
/_——-—-’_—' >
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(a)
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(b) maﬂﬂazﬂaaﬁwq@ﬂizozsﬁsﬁ%nﬁwmmfamﬁrmﬁawﬁ
©) mmmmmmﬁWMBo%mmwwm
@/mﬁmmﬁﬂ%qﬁéﬂﬁmm
aﬁaﬁaﬁaﬁmﬁuﬁaﬂa@
o) (a)aﬂf“r(d)aﬁmaqr%a. ~«2) (a)m(b)mm
) @ 0) O T gy @00 i (d) R S

3, consider the following statements :

Women Reservation Bill - 202

onstitutional (

am officially the C
he Parliament of India.

Narishakti Vandan Adhiniy
oduced in t

(a)
amendment) bill - 2023 is a bill intr

(b) The Women reservation bill was introduced by Prime Minister Narendr
on 10th Sept.: 2023.

This legislation seeks to allocate 30 percen
assemblies for women.

(©)

(d) The bill was the first that was considered in the new Parliament building.

Select the correct statements from the above.

(1) (a) and (d) are correct. (2) (a) and (b) are correct.

(3) (a), (b), (c) are correct. @) (a), (b), () and (d) are correct.

One hundred and twenty eight

a Modi in Lok Sabha

t of the seats in Lok Sabha and Gtate le
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[ ) T 30 T T e s
o) el 6 T fa I TR SRR e .
R 17mwm110wﬁwwatmmm
(1) K (a), (b) (2)

m ‘), (©
B (@) © PR

Select the correct statements (Padma Awards 2024) :

(@) 30 of the awardees in it are women.

(b) 6 Padma Vibhushan award were declared.

() 17 Padma Bhushan and 110 Padma Shri awards were declared
Answer options :
(1)  Only (a), (b)

(2)  Only (b), (c)
(3)  Only (a), (c)

(4) N}_ef these

l' ll'llll

)3, RS RS, mgﬁn@@mﬁaﬁﬁmmmm7

ey S (0) e CHEEEE
(@) siefem () g ® R
T I
@) @) ®) @), @ @) (@), ®) (@) (@
& @), (®), (@), () 47 @), (), ©) (@) ()
Which of the following countries are included in the Five Eyes Alliance ?
(@) America (b)  Britain (c) New Zealand
(d) Australia (e) France fg__:‘? Germany

Answer options : :———
O @ 00 @ @
@) @ O) @), @ @) @:b), © @), (@
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(1) i S A SlesEd .
) 3 fer X ufedt IR-wid qErs e
(3) I W 1924 WY, AR fSIewiniier T e .
AT i 1952 < T faumaen Fegur THEIqT AaeRr HegA et &,

Karpoori Thakur was recently in news. Which of the following is not true about him ?
(1) He is also known as ‘Jan Nayak'.

(2) He was First non-congress Chief Minister of Bihar.

(3) He was born in 1924, in a village in Samastipur District.

(4) He won State Assembly election in 1952 from Samastipur Constituency.

95. ANY HYA @l :

(a) T AEEE A e widd AR, 2023 YSH I 3.

(b) FRTE Hiemel T wHa o Afec™ T FieAl [kl TR
() Tfta deme o A o) it T Sherean fethed it AR WSe Hewell, 2004 HE HewM

I,
Wfﬂ'fﬁ}{‘:
(1) = (a), (b) (2) ®H (b), ()
(3) W (a), () My Sage Wl

Select the correct statements :
(@) The Nobel Peace Prize, 2023 was awarded to Narges Mohammadi.
() Narges Mohammadi is a champion of equality and women'’s rights.

(c) In2004, Narges Mohammadi joined the Defenders of Human Right Center founded by Shiri

Ebadi.
Answer options :
(1) Only (a), (b) - () Only (), (9)
(3) Only (a), (c) . (4) All of the above
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9) B

i
1) (@), (b), ©), e @ (@) (), (d), (e =f(3) ®), ©), (d), €) (4 (a), (b), (©), (d)

:denﬁfy the correct statements regard'mg l\’isz_-%iSWarr\inathan_
) Hewas resident of Tamil Nadu. -
He was educated from Oxford Univer—'ss'i—t‘yzf
() Hewas Scientist of Agriculture department.
(@) Hewas Member of Rajya Sabha for some time.
() Hewas awarded by Raman Magsaysay award.
Answer options :

0 @00 E @ @O@Ee @ ©0@e 4 @ b, © @

et dwg faur fa=m =

O T ST e 28 § 2023 T HIOR
(d) R ammwmmfﬁwﬁ TR,
1) Taum (b), () 4ra 3.

o) faum (), (b), () A M.
By T (), (), (d) IF IR
¥) (@) (), (©), (@ e
Consider the correct statements given below :
(@) The interior design of Lok Sabha in the new Parliament is based on the theme of National
Animal Lion. "
(b) The design of Rajya Sabha is based on ;_ﬁ?hg__%theme of India’s National Flower Lotus.
() The new Parliament building was inaggl}?ated on 28" D 202
(d) The historic Ashok Chakra has been @SEQEECI beside the speaker of Lok Sabha.
Answer options : ":»-af
(1) Statements (b), (c) are correct. b
(2) Statements (a), (b), () are correct. =
(3) Statements (b), (c), (d) are correct. e
@) (@), (b), (©), (d) are correct.

C =731
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(O @ ) @

(2 @) @) Gv) @)

5&37 () (@v) @) ()

4) Gv) (@) @ ()

Match the following pairs :
(A)

(@) Dr. Nitin Karmalkar Committee (i)

(b) Nitin Karir Committee

(c) Sunil Pawar Committee

Answer options :

@@ () () (@
® O @ @ @
@ @ @ @ O
@) @) Gv) @ @
@ @) @ @ G

(i)

(i)

(d) Dr. K. Kasturirangan Committee (iv)
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(B)
WERTIHE] (egta TR HITTT - 2020 %y
IS
TERTSZ U0 qOhR FaRones Feiedl TS gy
Gayt
HEN e F A, ArE1 S FUAEE!

T Sherfirer Hieor - 2020 TIR AT § Teeirdy,
ITIHY TR HIOIEE!

(B)

For implementation of National Education
Policy - 2020 in Maharashtra

To enquire the incident which happened during the
distribution of Maharashtra Bhushan Award

To study why the rates of onion collapse.

To make the syllabus for pre-priniary to degree
according to National Education Policy - 2020
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L T T eRTo a7
KiIes i
i A (FTE) T Wfiry sfon g7 e A st el
) ST 3T - B (3y)
(a) ST T 0 T
?z) AR R ) e
q) ST Hall B i) WM
g—;i—d’fﬁ : (iv)  sTomforcms
(@ (b) () (d)
@ @ @ G ()
' (2) () (iii)  (iv) ()
@ @ (v) (i)
@ (v @ @) ()
7L MatChAth(eOi)oelll‘ggc})’nasr)‘d e Operations undertaken to protect Indian Nationals Abroad.
() Operation Ajay ) g lgcquntry)-
Operation Ganga (i) Israralme
() Operation gevishakﬁ (i) Sudfm
Operatio averi v _
glr)xswef optiox?s : (iv) Afghanistan

@@ (b) (9 (d)
1 @ @@ () (@)
(2) @) @) @) @
@ @@ @ (v) (i)
(4) (@v) G) @) @)

100, FEHEA MR Sl afedl At qEatt ana o uﬁ .
(o) @ A S, 2017 Y 3§ Wee e Sar gE el el
by WWE@%@WWWWWWWWWW@ﬁ,@H@

() = AesTmTa SH W T X 50,000 1S JuArn i T el
(d) 33 Rl UL 10 T, T T SR WeR de SHRE S

) (@), (d) I TR 25 (@), (b), (c) A TR
3) (a), (b) AT AT 54)  (a), (0), (d) T e

Identify the correct statements regarding the Chief Minister Solar Agricultural Chan.nf.:l Scheme.

(@) This Scheme was started in June 2017, when Devendra Fadanvis was Chief Minister.

(b) The main purpose of this Scheme is to provide supply of electricity to farmers through the
agricultural feeder.

() The government has decided to pay ¥ 50,000 per acre as rent to the farmers under this
Scheme.

(d) Solar panels are set up on gove

mment land up to ten kilometres from the 33 kV substation: '
Answer options : £ 8

(1) (@), (d) are correct (2) (a)f(l;), (c) are correct
(3) (a), (b) are correct (4) (a); (9); (d) are correct
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